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dentical pucks on & hocky air table M, =wy = m

Conservation of momentum
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Blastic colision, AE; =0

A§ = O, no external force

fd W and (j)

@

@:  WmVU+0 = mUCse + mW Cosd @
@=% — gw\é=izl Cosez—@oz
Conservation of energy
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3 equations, we need to fnd P and W (awd u) @
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This is not a sas’rem of coupled linear equations, but many routs can be
taken to £ind a solution. | want to start to £ind the ange (:P
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These 2 equation | combine fo ﬁe’r an equation onlxj for the anﬁle (P
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use the fact that COS?) +§Lmzcb =1
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The solution of this set of linear equations 3’\ves

W =(\(§‘>3 A 520 %s

W= %5

The chid releases a ball at t = o with no veloc'\’ra relative to the wagon.
The momentum of the total Sﬁsfem before t = o0 is the same as the
romentum \mmeo\'\a’rela after the release. There wil be no change in the
velocity of the wagon and the chid.
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| \ T Find the momentum of inertia of the

C e system with direct integration
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Ball with M = Yo.0 kg rolls on & horizontal plane surface with velocity v = 6.0 m/s the system > Lis consenved
How much work is needed to stop it
, T.wy = I G
T = .zg MR when ’rum‘\nﬁ around an axis ’rhrouSh the center 2
ot L Mg g
2 2 — R {H 4w l e Z
\ = &
EK = [7 M{U 4 = IQ) ) Q)R (U
_ 1 e L v _ 2 Myt = A > Mrwl WO, ¥
E.= 2HV ~5T (%) = gHv ~ M oMY Ll
B D) _ Mewm oy, ;(l,ozs) W, =128 Hg
\=44-5.2 7 F “ -
m E.ML‘HC:[Ly M = 2.0 Eﬁ Kw& CL)}
R = 0e0 w after m has slid
M 2 m = 0.05 B to the center

Q)L = A-3TC S_I




